Chapter 10 Test Review
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42) 10, in a circle, 2 chords are congruent if they are equidistant from the center
43) 40%, if a diameter is perpendicular to a chord, it bisects the chord & its arc

44) 170%, 2 arcs are congruent if their chords are congruent



6)

45) 15, in a circle, 2 chords are congruent if they are equidistant from the center
46) 7, if a diameter is perpendicular to a chord, it bisects the chord & its arc

47) 40%*, vertical angles = congruent angles = congruent arcs
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7.(x—4)2+ (y — 3)2:

center: (4, 3)

radius: 4
9. x> + }_,2 =4

center: (0, 0)
radius: 2
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8.(x— 57+ (y—1)?%=25

center: (5, 1)
radius: 5

10. (x + 2)% + (y — 3)* = 36

center: (-2, 3)
radius: 6
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21) 19. center (0, 0), radius 1 20. center (4, 0), radius 4
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21. center (3, —2), radius 2 22. center (—1, —3), radius 6
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